## BOCC APPROVAL FEBRUARY 23, 2022 BOARD OF BIDS AND CONTRACTS FEBRUARY 16, 2022

## 5. MEDICAL GRADE OXYGEN -- EMERGENCY MEDICAL SERVICES (EMS) AND VARIOUS DEPARTMENTS FUNDING -- EMS

(Request sent to 68 vendors)

RFB #21-0034 Contract

	Wichita Welding Supply, Inc.				
Medical Grade Oxygen	See Itemizations Attached				
Acknowledge Addendum	Yes				
	Airgas Mid South	Boone Opportunities			
	Central Gas Service LLC	Grainger Industrial Supply			
	Hampel Oil Distributors Inc	Heathwood Oil Co., Inc.			
No Bid	Lampton Welding Supply	Murdock Companies Inc			
	Phillips Enterprises	Propane Central LLC			
	Saratoga Rack Marketing LLC	Shepherd Oil Co.			
	Wayman Oil Co.				

On the recommendation of Britt Rosencutter, on behalf of EMS and various departments, Tim Myers moved to accept the bid from Wichita Welding Supply, Inc. at the rates listed (see attachment) and establish contract pricing for one (1) year with four (4) one (1) year options to renew. Kenly Zehring seconded the motion. The motion passed unanimously.

Oxygen will be used by Sedgwick County EMS, Sedgwick County Fire District 1, Wichita Fire, Derby Fire, and Colwich Fire Departments. EMS relies on our first responder partners on almost all emergent calls. Maintaining oxygen to these allied services assists in providing critical emergency care until a responding EMS ambulance arrives.

This contract will provide Medical Grade Oxygen in the "M" and Jumbo "D" sized cylinders, along with OSHA approved cylinder storage cabinets. It will also provide maintenance on all cylinders as needed, annual testing, and FDA certification on all cylinders.

Oxygen deliveries are made several times a week to the four (4) major hospitals and to 32 separate fire stations throughout Wichita and Sedgwick County. On a monthly average, all services use approximately 400 - 600 Jumbo "D" cylinders and 60 - 80 "M" cylinders.

## Notes:

Sedgwick County EMS has been using Wichita Welding Supply, Inc. for all its medical oxygen needs dating back to the mid 1990's. Wichita Welding Supply, Inc. has always provided EMS with 24/7 support, emergency deliveries, and additional cylinders when needed. This proved to be essential during the height of EMS Covid responses over the past two (2) years.

Wichita Welding Supply, Inc. is the current vendor. Last year's spend was approximately \$78,949.95.

## **Questions and Answers**

Russell Leeds: Can you tell us whether or not there was an increase in the pricing due to inflation or did the pricing stay pretty consistent?

Paul Gibson: We did see a small percentage increase, probably less than 5% across the board on the cylinder rental and the oxygen usage as well.

Russell Leeds: So we can anticipate a 5% increase over the \$79,000.00 from last year?

Paul Gibson: Probably, yes.

Russell Leeds: Wichita Welding was the only one to bid?

Paul Gibson: Yes. Purchasing sent the proposal out to numerous vending sources. Wichita Welding was the only one to return a bid.

Russell Leeds: They've been our supplier for a while?

Paul Gibson: We've been dealing with Wichita Welding for medical oxygen since the mid-1990s.

	Medical Grade Oxygen OWNED CYLINDER DELIVERED SUMMARY								
	Annual Pricing per Department (Per Pricing should match Itemized Pricing Per Department Location)								
Department	Department Cylinder Type Safety Stock Quantity Vehicle Quantity Total Required Price per Cylinder Total								
Sedgwick County EMS	M Cylinder	40	30	72	\$10.75	\$774.00			
Sedgwick County EMS	Jumbo D Cylinder	165	75	240	\$8.00	\$1,920.00			
Sedgwick County Fire Dept.	Jumbo D Cylinder	63	27	90	\$8.00	\$720.00			
Wichita Fire Dept.	Jumbo D Cylinder	124	65	189	\$8.00	\$1,512.00			
Derby Fire Dept.	Jumbo D Cylinder	12	6	18	\$8.00	\$144.00			
Colwich Fire Dept.	Jumbo D Cylinder	3	6	9	\$8.00	\$72.00			

1960   1960	Medical Grade Oxygen OWNED CYLINDER DELIVERED ITEMIZED							
								1
1000 1	Sedgwick County Fire Stations			Jumbo 'D' Vehicle Quantity			Price per Cylinder	Total
March   Marc	Station 31	Andale, KS 67001	4	2	-	-	\$8.00	\$48.00
1980   19	Station 32	Park City, KS 67147	11	4	-	-	\$8.00	\$120.00
March   Marc	Station 33	Maize, KS 67101	9	3	-	-	\$8.00	\$96.00
Contact   Cont	Station 34		7	3	-	-	\$8.00	\$80.00
Section   Sect	Station 35		5	3	-	-	\$8.00	\$64.00
March   Sch   1700	Station 36		5	3	-	-	\$8.00	\$64.00
1997   1997	Station 37		8	4	-	-	\$8.00	\$96.00
2002   2003	Station 38	1010 N. 143rd St. E.	7	3	-	-	\$8.00	\$80.00
Michael Fro Nation	Station 39	3610 S. 263rd St. W.	7	2	-	-	\$8.00	\$72.00
Michael   Mich	Wichita Fire Stations	Address		Jumbo 'D' Vehicle Quantity			Price per Cylinder	Total
Section   Sect	Station 1		12	8	-	-	\$8.00	\$160.00
2501 N Rocalowy   6   3   5   5   5   5   5   5   5   5   5	Station 2	1240 S Broadway	11	7	-	-	\$8.00	\$144.00
Section   Sect	Station 3		6	3	-	-	\$8.00	\$72.00
Section   Sect	Station 4		7	3	-	-	\$8.00	\$80.00
Station   Stat	Station 5		4	2	-	-	\$8.00	\$48.00
Station   Stat	Station 7	2346 N Coolidge	6	3	-	-	\$8.00	\$72.00
Station   Stat	Station 8	661 N Elder	6	3	-	-	\$8.00	\$72.00
Station   10   Station   10   Station   10   Station   11   Station   12   Station   13   Station   13   Station   13   Station   14   Station   15   Stat	Station 9	350 S Edgemoor	6	3	-	-	\$8.00	\$72.00
Station 11   Self-Glorgen Washington Blod   6   3	Station 10	2950 E 21st St N	6	3	-	-	\$8.00	\$72.00
Hation 12	Station 11	1845 George Washington Blvd	6	3	-	-	\$8.00	\$72.00
Station   13   State   242 and St N   6   3	Station 12	3443 S Meridian	6	3	-	-	\$8.00	\$72.00
Second   S	Station 13	3162 W 42nd St N	6	3	-	-	\$8.00	\$72.00
Station   15   P228   Elizion   4   2   -	Station 14	6408 Farmview	4	2	-	-	\$8.00	\$48.00
Saction   16	Station 15	7923 E Lincoln	4	2	-	-	\$8.00	\$48.00
Weitha, KS 6/212	Station 16	1632 N Tyler	6	3	-	-	\$8.00	\$72.00
Weighta   Section   Sect	Station 17	10651 W Maple	4	2	-	-		<del> </del>
Wichita, KS 67226		2808 N Webb			-	-		<del> </del>
Wichita, KS 67216		4440 S Broadway			_	_		
Wichita, KS 67207   Wichita, KS 67215   Wichita, KS 67215   Wichita, KS 67215   Wichita, KS 67211   Wichita, KS 67214   So		2255 S Greenwich			_	_		
Wichita, KS 67235								<del> </del>
Wichita, KS 67211   Jumbo 'D' Cylinder Safety Stock (Stations)   Jumbo 'D' Vehicle Quantity   "M" Cylinder Safety Stock (Stations)   Total Station 81   715 E. Madison Derby, KS 67037   12   6   -								
Stock (Stations)   Stock (Stat			Jumbo 'D' Cylinder Safety		"M" Cylinder Safety	"M" Cylinder Vehicle		
Derby, KS 67037   Jumbo 'D' Cylinder Safety   Stock (Stations)   Jumbo 'D' Vehicle Quantity   "M" Cylinder Safety   Quantity   Price per Cylinder   Total	Station 81	715 E. Madison			Stock (Stations)	Quantity -		
Station 55   116 N, 3 <sup>rd</sup> St. Colwich   3   6   -   -				Jumbo 'D' Vehicle Quantity				
Sedgwick County EMS         Address         Jumbo 'D' Cylinder Safety Stock (Stations)         Jumbo 'D' Vehicle Quantity         "M" Cylinder Safety Stock (Stations)         "M" Cylinder Vehicle Quantity         Price per Cylinder         Total           /ia Christi St. Francis         929 N. St Francis Wichita, KS 67214         50         20         20         10         \$8.00 (JD) / \$10.75 (M)         \$322.50 (M)           Vesley Medical Center Wichita, KS 67214         50         20         -         10         \$8.00 (JD) / \$10.75 (M)         \$560.00 (JD) / \$10.75 (M)	Station 55		Stock (Stations)		Stock (Stations)	Quantity -		
29 N. St Francis   929 N. St Francis   929 N. St Francis   920 N	Sedgwick County EMS	Address		Jumbo 'D' Vehicle Quantity			Price per Cylinder	
Vesley Medical Center	Via Christi St. Francis	Wichita, KS 67214		20			\$8.00 (JD) / \$10.75 (M)	\$560.00 (JD) / \$322.50 (M)
/ia Christi St. Joseph Wichita, KS 67218 50 20 20 10 \$8.00 (JD) / \$10.75 (M) \$500.00 (JD) / \$10.75 (M) \$322.50 (M) / \$10.75 (M) \$322.50 (M) / \$10.75 (M) \$322.50 (M) / \$10.75 (M) \$10.75 (M	Wesley Medical Center		50	20	-	10	\$8.00 (JD) / \$10.75 (M)	\$107.50 (M)
/ia Christi St. Teresa 14800 W. St. Teresa 15 15 2 SR 00 (ID) / SI 0.75 (M) \$240.00 (JD) /	Via Christi St. Joseph	3400 E. Grand	50	20	20	10	\$8.00 (JD) / \$10.75 (M)	\$560.00 (JD) / \$322.50 (M)
	Via Christi St. Teresa		15	15		2	\$8.00 (JD) / \$10.75 (M)	\$240.00 (JD) / \$21.50 (M)

Medical Grade Oxygen RENTED CYLINDER DELIVERED SUMMARY								
Annual Pricing per Department (Per Pricing should match totaled Itemized Pricing Per Department Location)								
Department	Cylinder Type	C-f-t- Ctl- Otit	V-hi-l- Otit-	Total Required	Price per Cylinder	Total		
Department	Cyllider Type	Safety Stock Quantity	Vehicle Quantity	1 otai Kequireu	Rental (Monthly)	Total		
Sedgwick County EMS	M Cylinder	40	30	72	\$2.50	\$180.00		
Sedgwick County EMS	Jumbo D Cylinder	165	75	240	\$2.00	\$480.00		
Sedgwick County Fire Dept.	Jumbo D Cylinder	63	27	90	\$2.00	\$180.00		
Wichita Fire Dept.	Jumbo D Cylinder	124	65	189	\$2.00	\$378.00		
Dorby Fire Dent	Jumbo D Cylinder	12	6	18	\$2.00	\$36.00		

		Medical Grade Oxyg	gen RENTED CYLINDI	ER DELIVERED	ITEMIZED		
	Itemizeo	Pricing per Department Loca Jumbo 'D' Cylinder Safety	tion DELIVERED (Per Pricing sho	ould match totaled Annual "M" Cylinder Safety	Pricing Per Department) "M" Cylinder Vehicle		
Sedgwick County Fire Stations	Address	Stock (Stations)	Jumbo 'D' Vehicle Quantity	Stock (Stations)	Quantity	Price per Cylinder/Cage Rental (Monthly)	Total
Station 31	5848 N. 247th St. W. Andale, KS 67001	4	2	-	-	\$2.00	\$12.00
Station 31 Cylinder Cage	5848 N. 247th St. W. Andale, KS 67001					\$6.00	\$6.00
Station 32	7750 N. Wild West Dr. Park City, KS 67147	11	4	-	-	\$2.00	\$30.00
Station 32 Cyinder Cage	7750 N. Wild West Dr. Park City, KS 67147					\$6.00	\$6.00
Station 33	10625 W 53rd St. N. Maize, KS 67101	9	3	-	-	\$2.00	\$24.00
Station 33 Cylinder Cage	10625 W 53rd St. N. Maize, KS 67101					\$6.00	\$6.00
Station 34	334 N. Main Haysville, KS 67060	7	3	-	-	\$2.00	\$20.00
Station 34 Cylinder Cage	334 N. Main Haysville, KS 67060					\$6.00	\$6.00
Station 35	1535 S. 199th St. W. Goddard, KS 67052	5	3	-	-	\$2.00	\$16.00
Station 35 Cylinder Cage	1535 S. 199th St. W. Goddard, KS 67052					\$6.00	\$6.00
Station 36	5055 S Oliver St	5	3	-	-	\$2.00	\$16.00
Station 36 Cylinder Cage	Wichita, KS 67210 5055 S Oliver St					\$6.00	\$6.00
Station 37	Wichita, KS 67210 4343 N. Woodlawn Blvd	8	4	-	_	\$2.00	\$24.00
Station 37 Cylinder Cage	Bel Aire, KS 67220 4343 N. Woodlawn Blvd					\$6.00	\$6.00
Station 38	Bel Aire, KS 67220 1010 N. 143rd St. E.	7	3	-	_	\$2.00	\$20.00
	Wichita, KS 67230 1010 N. 143rd St. E.	,	3	-			
Station 38 Cylinder Cage	Wichita, KS 67230 3610 S. 263rd St. W.	7	2	_		\$6.00	\$6.00
Station 39	Garden Plain, KS 67052 3610 S. 263rd St. W.	7	2	=	-	\$2.00	\$18.00
Station 39 Cylinder Cage	Garden Plain, KS 67052	Jumbo 'D' Cylinder Safety		"M" Cylinder Safety	"M" Cylinder Vehicle	\$6.00	\$6.00
Wichita Fire Stations	Address 731 N Main	Stock (Stations)	Jumbo 'D' Vehicle Quantity	Stock (Stations)	Quantity	Price per Cylinder/Cage Rental (Monthly)	Total
Station 1	Wichita, KS 67203	12	8	-	-	\$2.00	\$40.00
Station 1 Cylinder Cage	731 N Main Wichita, KS 67203					\$6.00	\$6.00
Station 2	1240 S Broadway Wichita, KS 67211	11	7	-	-	\$2.00	\$36.00
Station 2 Cylinder Cage	1240 S Broadway Wichita, KS 67211					\$6.00	\$6.00
Station 3	3261 N Broadway Wichita, KS 67219	6	3	-	-	\$2.00	\$18.00
Station 3 Cylinder Cage	3261 N Broadway Wichita, KS 67219					\$6.00	\$6.00
Station 4	2423 W Irving Wichita, KS 67213	7	3	-	-	\$2.00	\$20.00
Station 4	2423 W Irving Wichita, KS 67213					\$6.00	\$6.00
Station 5	257 N Hillside Wichita, KS 67214	4	2	-	-	\$2.00	\$12.00
Station 5 Cylinder Cage	257 N Hillside Wichita, KS 67214					\$6.00	\$6.00
Station 7	2346 N Coolidge	6	3	-	-	\$2.00	\$18.00
Station 7 Cylinder Cage	Wichita, KS 67204 2346 N Coolidge					\$6.00	\$6.00
Station 8	Wichita, KS 67204 661 N Elder	6	3	-	-	\$2.00	\$18.00
Station 8 Cylinder Cage	Wichita, KS 67212 661 N Elder					\$6.00	\$6.00
	Wichita, KS 67212 350 S Edgemoor	6	3	_	-	\$2.00	
Station 9	Wichita, KS 67218 350 S Edgemoor	<u> </u>					\$18.00
Station 9 Cylinder Cage	Wichita, KS 67218 2950 E 21st St N					\$6.00	\$6.00
Station 10	Wichita, KS 67206 2950 E 21st St N	6	3	-	-	\$2.00	\$18.00
Station 10 Cylinder Cage	Wichita, KS 67206 1845 George Washington Blvd					\$6.00	\$6.00
Station 11	Wichita, KS 67218	6	3	-	-	\$2.00	\$18.00
Station 11 Cylinder Cage	1845 George Washington Blvd Wichita, KS 67218					\$6.00	\$6.00
Station 12	3443 S Meridian Wichita, KS 67217	6	3	-	-	\$2.00	\$18.00
Station 12 Cylinder Cage	3443 S Meridian Wichita, KS 67217					\$6.00	\$6.00
Station 13	3162 W 42nd St N Wichita, KS 67204	6	3	-	-	\$2.00	\$18.00
Station 13 Cylinder Cage	3162 W 42nd St N Wichita, KS 67204					\$6.00	\$6.00
Station 14	6408 Farmview Wichita, KS 67206	4	2	-	-	\$2.00	\$12.00
Station 14 Cylinder Cage	6408 Farmview Wichita, KS 67206					\$6.00	\$6.00
Station 15	7923 E Lincoln Wichita, KS 67207	4	2	-	-	\$2.00	\$12.00
Station 15 Cylinder Cage	7923 E Lincoln					\$6.00	\$6.00
Station 16	Wichita, KS 67207 1632 N Tyler	6	3	-	-	\$2.00	\$18.00
Station 16 Cylinder Cage	Wichita, KS 67212 1632 N Tyler					\$6.00	\$6.00
Station 17	Wichita, KS 67212 10651 W Maple	4	2	-	-	\$2.00	\$12.00
	Wichita, KS 67209 10651 W Maple		-				
Station 17 Cylinder Cage	Wichita, KS 67209 2808 N Webb	,	2			\$6.00	\$6.00
Station 18	Wichita, KS 67226	6	3	-	-	\$2.00	\$18.00

	_						
Station 18 Cylinder Cage	2808 N Webb Wichita, KS 67226					\$6.00	\$6.00
Station 19	4440 S Broadway Wichita, KS 67216	6	3	-	-	\$2.00	\$18.00
Station 19 Cylinder Cage	4440 S Broadway Wichita, KS 67216					\$6.00	\$6.00
Station 20	2255 S Greenwich Wichita, KS 67207	4	2	-	-	\$2.00	\$12.00
Station 20 Cylinder Cage	2255 S Greenwich Wichita, KS 67207					\$6.00	\$6.00
Station 21	2110 N 135th St W Wichita, KS 67235	4	2	-	-	\$2.00	\$12.00
Station 21 Cylinder Cage	2110 N 135th St W Wichita, KS 67235					\$6.00	\$6.00
Station 22	2659 S Hydraulic Wichita, KS 67211	4	2	-	-	\$2.00	\$12.00
Station 22 Cylinder Cage	2659 S Hydraulic Wichita, KS 67211					\$6.00	\$6.00
Derby Fire Station	Address	Jumbo 'D' Cylinder Safety Stock (Stations)	Jumbo 'D' Vehicle Quantity	"M" Cylinder Safety Stock (Stations)	"M" Cylinder Vehicle Quantity	Price per Cylinder/Cage Rental (Monthly)	Total
Station 81	715 E. Madison Derby, KS 67037	12	6	-	-	\$2.00	\$36.00
Station 81 Cylinder Cage	715 E. Madison Derby, KS 67037					\$6.00	\$6.00
Colwich Fire Station	Address	Jumbo 'D' Cylinder Safety Stock (Stations)	Jumbo 'D' Vehicle Quantity	"M" Cylinder Safety Stock (Stations)	"M" Cylinder Vehicle Quantity	Price per Cylinder/Cage Rental (Monthly)	Total
Station 55	116 N. 3rd St. Colwich	3	6	-	-	\$2.00	\$18.00
Station 55 Cylinder Cage	116 N. 3rd St. Colwich					\$6.00	\$6,00
Sedgwick County EMS	Address	Jumbo 'D' Cylinder Safety Stock (Stations)	Jumbo 'D' Vehicle Quantity	"M" Cylinder Safety Stock (Stations)	"M" Cylinder Vehicle Quantity	Price per Cylinder/Cage Rental (Monthly)	Total
Via Christi St. Francis	929 N. St Francis Wichita, KS 67214	50	20	20	10	\$2.00 (JD) / \$2.50 (M)	\$140.00 (JD) / \$75.00 (M)
Via Christi St. Francis Cylinder Cage	929 N. St Francis Wichita, KS 67214					\$10.00	\$10.00
Wesley Medical Center	550 E. Hillside Wichita, KS 67214	50	20	-	10	\$2.00 (JD) / \$2.50 (M)	\$140.00 (JD)
Wesley Medical Center Cylinder Cage	550 E. Hillside Wichita, KS 67214					NA - Hospital provides their own Cylind	ler Cage
Via Christi St. Joseph	3400 E. Grand Wichita, KS 67218	50	20	20	10	\$2.00 (JD) / \$2.50 (M)	\$140.00 (JD) / \$75.00 (M)
Via Christi St. Joseph	3400 E. Grand Wichita, KS 67218					\$10.00	\$10.00
Via Christi St. Teresa	14800 W. St. Teresa Wichita, KS 67235	15	15	-	2	\$2.00 (JD) / \$2.50 (M)	\$60.00 (JD) / \$5.00 (M)
Via Christi St. Teresa	14800 W. St. Teresa Wichita, KS 67235					\$10.00	\$10.00

Medical Oxygen Tanks A La Carte Pricing*							
Description	Unit of Measure	Quantity/Estimated Annual Usage	Quantity/Estimated Annual Usage	Price Per Each (Tank or Gas)			
E	Purchase; EA	Infrequent; As Needed	Infrequent; As Needed	No Bid			
E2	Purchase; EA	Infrequent; As Needed	Infrequent; As Needed	No Bid			
D	Purchase; EA	Infrequent; As Needed	Infrequent; As Needed	No Bid			
D2	Purchase; EA	Infrequent; As Needed	Infrequent; As Needed	No Bid			
Medical Grade Oxygen (Gas only)	Cubic Foot	Infrequent; As Needed	Infrequent; As Needed	No Bid			